SCHOOL FUNDING 2022-23:

School Consultation responses
Question 1

In order to continue with the principle to mirror the NFF as far as possible the local authority
would need to increase the unit values for each factor as detailed in Appendix 1.

Are you in agreement with this proposal?
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Option Number | Percent
Yes 10 83%
No 1 8%
Not sure 1 8%
Not
answered 0 0%
12
Comments

Unsure but it is important to make it clear that we would rather that any sparsity funding

is not split between schools - as a small school it would make such a difference to us

e "Where are the additional funds coming from?

e It would be really worthwhile being able to present this in a simple format to staff and
governors - that is a Q | know they would ask."

e The IDACI bands and values attached don't reflect the actual the significant difference

in need for pupils in Band A compared to Band F. In my own school we have children

in Band A who need so many more resources and support than those in other bands.

With the levelling up agenda it is crucial that resources are allocated where the real

need is and not just a bit extra top up for the majority.



Question 2

To continue with the principle to mirror the NFF as closely as possible the local authority
would continue to set the MFG at 2.00% (subject to affordability).

Are you in agreement with this proposal? Yes/No
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Yes No Not sure Not answered
Option
Option Number | Percent
Yes 10 83%
No 0 0%
Not sure 2 17%
Not
answered 0 0%
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Comments

e Unsure but it is important to make it clear that | would rather that any sparsity funding
is not split between schools - as a small school it would make such a difference to us



Question 3

In order to make the formula affordable a gains cap may be required for 2022-23. In
consideration with Models 1 — 3 (Appendix 2) which illustrate the impact of a gains cap set at
2.80%, 2.75% and 2.6%

Are you in agreement with this proposal?
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Option Number | Percent
Yes 7 58%
No 3 25%
Not sure 2 17%
Not

answered 0 0%
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e Unsure but it is important to make it clear that | would rather that any sparsity funding
is not split between schools - as a small school it would make such a difference to us



Question 4

As a representative of a maintained primary school, do you agree to the de-delegation of the
following in 2022-237?

Please note any responses from Academies have been excluded

As a representative of either a maintained primary or secondary school, do you agree to the
de-delegation of the following in 2022-23? - Free school meals eligibility assessment
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Option Number | Percent
Yes 5 83%
No 0 0%
Not sure 1 17%
Not

answered 0 0%
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As a representative of either a maintained primary or secondary school, do you agree to the
de-delegation of the following in 2022-23? - Support to underperforming ethnic minority
groups and bilingual learners?
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Yes 5 83%
No 0 0%
Not sure 1 17%
Not

answered 0 0%
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As a representative of either a maintained primary or secondary school, do you agree to the
de-delegation of the following in 2022-237? - Contingency for crisis communications
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Option Number | Percent

Yes 5 83%

No 0 0%

Not sure 1 17%

Not

answered 0 0%
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As a representative of either a maintained primary or secondary school, do you agree to the
de-delegation of the following in 2022-237? - Trade Union Facilities
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Yes 4 67%
No 0 0%
Not sure 2 33%
Not
answered 0 0%
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Question 5
Please add any additional comments you have regarding the consultation below
Comments

e | would rather that any sparsity funding is not split between schools - as a small school

it would make a difference to us
e Not sure what the Trade Union Facilities cost is for?



